Chapter 2 Test Interpreting v vs t Graph (A) Name

(a) not moving

(b) moving away from sensor speeding up

(c) moving away from sensor slowing down
(d) moving away from sensor at constant speed
(e) moving toward the sensor speeding up

(f) moving toward the sensor slowing down
(g) moving toward the sensor at constant speed

In the following 10 questions, choose the correct answer from the 7 choices above and darken in the correct answer. (2 points each)
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10. Insegment 10, you are: (a) (b) (¢) (d)

In segment 1, you are:
In segment 2, you are:
In segment 3, you are:
In segment 4, you are:
In segment 5, you are:
In segment 6, you are:
In segment 7, you are:
In segment 8, you are:

In segment 9, you are:
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Darken in the correct answer.
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11. Assume you started from some point, where did you end up? (2 points)
(a) At the position where you started?

Closer to the sensor than where you started?

(¢) Further away from the sensor than where you started?

12. Coming to school this morning, a car drew opposite your instructors car. It took 12 seconds for the car to reach a bridge further
down the road. It took your instructor 21 seconds to reach the same bridge. Your instructor glanced down and saw that he was
traveling at 63 miles per hour. How fast was the other car going? Show your work. (3)

e X ....... IOt S
A /3 Gedw
2

09/24/01  8:29 PM
graph.doc

o
—

/0,8 _/_:f_;

finr

1C:\My Documents\AC TION\C H AP T E R S\02 Linear Motion\Test A - Interpreting v-t




